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General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qug A
SECTION A
1. IgM o MR W AR’ 3N Iagied’ H Tl T il | 1
AAAT
‘30T o YR W IElRcd’ a7 ‘ITeadl | 37l s hifvu | 1

Differentiate between ‘Authority’ and ‘Responsibility’ on the basis of
‘origin’.

OR
Distinguish between ‘Responsibility’ and ‘Accountability’ on the basis of
‘delegation’.

2. “% 10,000 IoF i IEGAT I 3T hHIWT TAT T 5,000 HT TSHRREE TR AT

i |7 fasea gada nfafafy s gg=nfaw | 1

“Purchase goods worth ¥ 10,000 and get a discount voucher of ¥ 5,000.”
Identify the sales promotion activity.

3. T ‘Tme fafues’ & yary fieve & s fofie yoprR o1 iR o1 Wi 2 | 39
qfH TH PG AW wH W W g NEH I YeEs — W, faue
Yerueh — faaa g fod yerues — Afed 8 | 9 T@ g WA T3 Aifoa
THAA §, ST (GRS hid &, 39 YA L @ 1oh ITeh [GWTT | I9YH A
3k B, I8 MMIeIh h afIcd HiYd & d97 3edd 321 <l Tiftd & fag 3=
rfirafa & B |
3T 3fgfaa &l & ifafih T 3R HR 1 Iecr@ hiforg Teept feared
M GUST TR TP T a8, A W Ig F & 7 | 1

Das is the Managing Director of ‘Gamut Ltd.’, manufacturing different
varieties of cheese. He has an efficient team working under him
consisting of Rajat — the Production manager, Vinay — the Marketing
manager and Adit —the Finance manager. They understand and
interpret the policies made by Das, ensure that their departments have
adequate manpower, assign them the necessary duties and motivate
them to achieve the desired objectives.

State one more function other than those mentioned above, that this
team may perform at the level they are working.

3 P.T.O.
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4. T’ 1 T 31 B 2
STt

‘Hited’ k! giIiNg <hifae |
What is meant by ‘Rule’ ?
OR

Define ‘Organising’.
5.  ‘facem’ & foredl @ fomiwanati w1 Seorg I |
HAAAT
‘31ate griT Yeeg w1 319 dfu |
State any two characteristics of ‘Directing’.

OR

Give the meaning of ‘Management by Exception’.

6. HUA T Averd il ot ‘iferan fafies’ i s@raeh soE o et A
% &Y 4 R @ 2 | 98 gH IR FHTR T GG i Hdl 7, S
Juera it fafim R i sl nfafafert &1 i = 2 | = o7 o=
I8 BRI o R 1 TAIIT HL @ AT, I Tsh HIETR M hl hal fh
3k HE H IR AT S GhaT § | Ak 4 HAA hl ol = g7z fh
39T hH =S Tal o |

3 feorfa & gwret Tuwor <6 79T o YRR hl 98 shifu |

Kamal is working as a gang boss in the assembly unit of ‘Sokia Ltd.’; a

laptop manufacturing company. He supervises the work of ten trained
workers who perform the various activities related to the assembly of the
laptops. One day when he was supervising the work of his workers, he
told Ashok, a worker that his work could be improved. Ashok interpreted
the comments of Kamal as that his work was not good.

Identify the type of barrier to effective communication in this case.
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7. 98 SR faxie giEmaia & a9 fasha ° @lied 3 S= 9t el & %
A, YA TE € hl S9A1 @ Sl 3 UHGH hl WA W @E Hl

Jedr |
AR T A e qen a8t defda &rf i ggam Fif | 1

This market helps to save time, effort and money that both buyers and
sellers of a financial asset would have to otherwise spend to try and find
each other.

Name the market and identify the function being referred to.

8.  HUR UH HH U ITAN A Tl q91 JAaH TGUU dTd Fel=aqH HGe! drel
HR TS =TEdT 97 | 38 VH SR TEATfad HA 9Tl Ueh fo5o <@r qen 39
FHIOA o MET T T g1 HR YSRia I TE oft | A< wd gud fauuE
TeYsh o qqEl foh HEO IUR Glowd, TWREE Had qo1 = §ga-H gwre
oW Yo N W@ g 98 IRER I H qAT 3E o g & Ui LEnHyih
(sire fs1) fonfea v  ercafees Tgman fiedt & |
fouum wey % 30 &R H ggaE K Nes fow d foqum yegs $AR 9
=t T T o | 1

Kumar wanted to purchase a fuel efficient car having the latest
standards regarding minimisation of pollution. He saw an advertisement
offering such a car and visited the showroom of the company wherein the
car was displayed. In his discussion, the Marketing manager told him
that the company is providing credit facilities, maintenance services and
many other effective services which are helping in bringing repeat sales
and developing brand loyalty.

Identify the marketing function which the Marketing manager was
discussing with Kumar.

Qus d
SECTION B

9. ‘uiayfd IR § 3fea YeaTi o SR |igdl Sl derel ¢l WRa Tfyfa qen
Taffme o€ =1 T S B | 3 T A Sooi@ hifViT EE I8 FE gENd 8
T 39 1 o fohedl Q 3T AT I Jeohg HINT | 3
One of the functions of Securities and Exchange Board of India is
‘Promotion of fair practices and code of conduct in securities market’.

State the category to which this function belongs and state any two other
functions of this category.

5 P.T.O.
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10.

11.

12.

&Y % RIS %1 % T8 o ol diF (oGl sl JHETST |
AuaT
Y9 o e % <kl fereal 9 st o gwesT |

Explain any three points of importance of planning function of
management.

OR
Explain any three limitations of planning function of management.
freafefad o omar W Au=ies Ta =G Teq § 3fqvig i :

() W
(@) R, qen

(M) Aqged |
AAAT

frfafga fargatl & saR W Ficrs @1 don fawrfa a@=mr 3 S
W@ﬁm:

(%) dw=E;
(@) vegeh foehra; aun
(M) &7 |

Distinguish between Formal and Informal organisation on the basis of
the following :

(a)  Origin;
(b)  Authority; and
(c) Leadership.

OR

Distinguish between Functional and Divisional structure on the basis of
the following points :

(a) Coordination;

(b)  Managerial Development; and

(c) Cost.

‘Sarafa fohE o gataer q91 g e ohl IR-foia ST1Sehi o &9 |
gAY |

Explain ‘Career Advancement Opportunity’ and ‘Job Security’ as
non-financial incentives.

L
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13.

14.

‘S, mred’ aftshd AT W I @ | I % 3caTed Y A G hRier
TRl Sefiy S Wl faie § fop dftseha skt o6 w01 # W Uk wRfH ol
JeHT 8 difeh SR 8 Sfqafiar ser g foman s ges w=ifer 3= gfeamft s
S % foiu Te=fera weiFl &1 M W @ 7 | T farga fovewer & arg
TdH dehieh o T Teh A8 LoTAd A shd i o1 i for=m | I8
ot faoiy form e T 39 wefim < foru fom Sedemrefia e &ai @ weefia foran
S | AT S A Sgd-Hl weH S gorn sl R 39w H e
Fota T it faseRatat =1 Afiehan Ifawa € & |

(%) 3y 9 grr fore e foefer ot =t wgefag |

(@) 3w (%) T ggaH MU ol &1 gaifad s arer gl d 9 Sent i

AR |

‘G. Motors’ is the manufacturer of sophisticated cranes. The Production
manager of the company, reported to the Chief Executive Officer, Ashish
Jain that one of the machines used in manufacturing sophisticated
cranes had to be replaced to compete in the market, as other competitors
were using automatic machines for manufacturing cranes. After a
detailed analysis, it was decided to purchase a new automatic machine
having the latest technology. It was also decided to finance this machine
through long term sources of finance. Ashish Jain compared various
machines and decided to invest in the machine which would yield the
maximum returns to its investors.

(a)  Identify the financial decision taken by Ashish Jain.

(b)  Explain any three factors affecting the decision identified in (a)
above.
Qus "

SECTION C

ST JATa & Ffiiad ST sl JHETsy
(%) TSIl TTETor; g
(@) @i wfeR |

arera
Y Sa9™ @ I W U9 SlaH dld HHfaRad ofifde gami ol
HHARY :
() IR, e

(@) dvdte |

7 P.T.O.
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15.

Explain the following dimensions of business environment :
(a)  Political Environment; and

(b) Social Environment.
OR

Explain the following economic reforms which had an impact on Indian
Business and Industry :

(a)  Liberalisation; and
(b) Globalisation.

2010 ¥ ‘“fed sfen fafiee’ et ohse & o 3cdTed | Hord 7 | 39 31afy
H 9gd | U™ 4 SR # e fhan qon ‘gew sfewn fafiee’ wi wled
TET 2 @ § | 39 AT T FHAT B o fOIW qe1 STeiR # fge agH @ foe
HIOH g TR B T 100 HUS I SHATHG AT & T3 B § age
w1 fui foman | 39 o = w0 & ol e 3 9% ot sl it
H 1 o T | et 6 fom favm 3 sgem @ foh 39 9% RoTwEt
frifra st <t STTHTHG @ T 10,00,000 B | AT 36 FAIH AT i
QU HET AR 8 |

(%) 38 3L & foru st gro Fnifirg fope oI ot 9o <6t omvEmsT |

(@) focfle SR & foha T & IWIE (%) | A9 T 99 6T - fohamm

ST B 2 98 oft THese o6 33 w9 # o fohaq gifara B R |

‘Foods India Ltd.” is a company engaged in the production of packaged
juice since 2010. Over this period, a large number of competitors have
entered the market and are putting a tough challenge to ‘Foods India
Ltd.’. To face this challenge and to increase its market share, the
company has decided to replace the old machinery with an estimated cost
of ¥ 100 crores. To raise the finance, the company decided to issue 9%
debentures. The Finance department of the company has estimated that

the cost of issuing the 9% debentures will be ¥ 10,00,000. The company

wants to meet its floatation cost.

(a) Explain the instrument that the company may issue for this
purpose.

(b) In which type of financial market, is the instrument explained in
(a) above traded ? Also explain how safe the instruments are in
this market.
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16.

17.

IUAIRT T T, 1986 % @Y o FATIR ITHRRT shi TRYTST ST |
AAAT

UHt fopegl 318 TRl 1 Sooi@ hINT S IUHRET bl Iq0TeY &, Il ITeTeld
rerrad 1 Tendfan @ Fqee B |

Define a ‘Consumer’ according to the provisions of the Consumer
Protection Act, 1986.

OR
State any eight reliefs available to the consumer, if the court is satisfied
about the genuineness of the complaint.

¥ 2005 H FUMA 3 Teh HUST HIUA! o Icq1ed fI9mT § HrRisrmedn (W) TR ©
YaYsh & ®9 H YeHR T30 foham | 39k 38 S & HNU 98 99 2010 H
FHIYH ST IJU-ICUTET JaGH o4 T | 3Heh YT 3T Td @A off qen ot |
gft 3TeRt T L A | 1 H™, 2019 i 38 ST o HHT YU & U8 W
UgrEd R QAT T | HUNA IO UREld W Sgd G o1 FAlfeh I I8 ol o
T o ek 98 A AT | U 3TTR YU o €4 H PUNA A SEvIAhdl-shH
frgra = TgeRt St Tt Araarett X el 2, 39 srefieen i rfiufa
H w1 o fon | e w8 owa fhn fb =Rl &1 SeRR IR
JATIIIRATI T R a1 8 3T Uk Yaueh 797 HUATEAT hl STeharati i
TS Hich 3oh IR i YA T Feha 7 |

(%) SMavIRAl-HH fagid 6l Tk =T 1 Ioohd IUh Agweg | fehar T

2 | 39 fugia i 3= di9 "r=rarst 1 Sea@ HiiT |
(@) YR R HUMA 1 HIF-H HTTIRATE II §3, Iec1@ HIT |

Kunal joined as a shop level manager in the Production department of a
textile company in the year 2005. Because of his good work, he became
the Deputy Production Manager of the company in the year 2010. He had
status and prestige and was well-respected by all in the company.
On 15t March, 2019, he was promoted as the General Manager of the
company. Kunal was very happy on his promotion as now he had become
what he was capable of becoming. As a good manager, Kunal decided to
motivate his subordinates, after understanding the Need Hierarchy
theory which is based on various assumptions. He realised that people’s
behaviour is based on their needs and the manager can influence the
behaviour of his employees by satisfying their needs.
(a)  One of the assumptions of Need Hierarchy theory is stated in the
above paragraph. State the other three assumptions of this theory.
(b)  State the needs of Kunal which are being satisfied through
promotion.

9 P.T.O.



[=%5 =]

s

18. ‘T T fdfiee’ 31w AU Wisiee & fT T 40,00,000 5 IS Thid T
It 2 | 39 UMY &) ThiEd 1 & foiw geem o1 qon g9 o fAefefiad

fir s aRA = @2 :

. TR

Sl 1(3) II (%) ITI (%)
T 40,00,000 30,00,000 10,00,000
Eaul 0 10,00,000 30,00,000

= T fefafed &

T TN & 9%

AT 37 T 3ifhd o T 100 ufd

F R 30%

¥ @ R Y Y@ 31 (EBIT) < 8,00,000

(%) o foeredi o @ fora foepew & SFarld Pl TUAT W AR 6T A9
33T Tohell B ?

(@) w1 k9§ gig o a1 Tid T AW § gHI Jhg Bl 2 ?

‘Smart Stationery Ltd.” wants to raise funds of ¥ 40,00,000 for its new

project. The management is considering the following mix of debt and
equity to raise this amount :

Capital Alternative
Structure I(3) II (%) 111 (¥)

Equity 40,00,000 30,00,000 10,00,000
Debt 0 10,00,000 30,00,000

Other details are as follows :

Interest Rate on Debt 9%

Face Value of Equity Shares T 100 each

Tax Rate 30%

Earning Before Interest and Tax (EBIT) < 8,00,000

(a)  Under which of the three alternatives will the company be able to
take advantage of Trading on Equity ?

(b)  Does Earning Per Share always rise with increase in debt ?

19. T UG o Hod-MERur i THIfGd i et foheal 91 hehi ol THETST |

Explain any four factors which affect the fixation of price of a product.
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20.

21.

Qug T
SECTION D

vaY & oGl % wew % fohegl ie fog3tl sl q93sy |
AT
JeY I Teh U < €9 H qHTET |
Explain any five points of importance of principles of management.

OR

Explain management as a profession.

foerE, Icie fafies’ ot 1 I3 JaTe STiehrl o, S WiRd & ganedi
I 390 HFRRR HRH JeH R @ a1 | 3 I Ing anl 8 Jaud
THAAYES Il T8 I 3N 3= W AR X | 9 | oifehd fIael T a¥ &
IR I8 vegd foren foh sramm 1 98 ey fire w® #, feeht gfd v wm i
@ R, TR ot mm Ted ST ® B | Tt sEent war A8 o W W@ oem Tk
GHET hEl 3 | 36 fspanatt < wifd W faehe @ Frleror s ey T siifen
I8 I TUF U1 @1 A1 foh el $® T 3 | 3IH Ugl foh AAE™ HI B T

THEH B ST, I8 I3 hFaTal T =gl o | foshrd 3 weh grgsw gran fomivs
&l figes foren fom et &t smfa o frmet Tt ol arn o srege s=Terh
FHA H H $S UAEAl g1 W o1 3R AW &l AT S9 § S W@ o1 | 98
TR TR 3R 3W Y™ o gaTel L T TR | 3HH Wied H Ty TS STIIEH
1 TATEOT ST 3T HHATIT b SSH FGER i A H H qg@d e |

(%) STYE I H J&-Y & 8 SR W TR ST T 8, IH TEAT |

(@) T *E 9N o= alih f SaRe BFE g w1 98w e

AT T GohdT & |

Vikas was the Chief Operating Officer of ‘Yalet Ltd.’, a company
providing advanced software solutions to Indian Defence Services. They
had been carrying on business successfully for the last twelve years and
earning enough profits. But from the last one year, they realised that
though the business is getting big orders which are being fulfilled in
time, even then the revenues kept on decreasing. Vikas was not able to
find out where the problem was. He started keeping a close check on the
progress of activities as he could sense that something was wrong. He
wanted to take some action before any major damage could be done to the
business. Vikas appointed a cyber security expert who monitored the
company’s processes and found out that the computer operator was
deleting the entries from the computers and pocketing the revenues. He
was caught and handed over to the police. This created an atmosphere of
order and discipline in the organisation and helped in minimising
dishonest behaviour on the part of the employees.

11 P.T.O.
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(a) Identify the function of management highlighted in the above
paragraph.

(b)  Explain any four other ways in which this function of management
may help the organisation.

22. ‘gl fafieg’ afecie, fope, e am &t TR o 31 3Icqmal < A
2 | B T8 1Y 39 T B 9T & B | hEHT o e e gy 1,
IO T IdT T o 90 Ush Taeor foharm | Taeqor o giomdt & 91 =el o
I TUIE h STaSg SUHIRT 36 HEAHT o IcTGl ohl FTCRITRI o Icdral § T
T R T @ Y | IUHRAT oIS TS’ W 3cATGH i 3okl 3T UIal
HNU IR-GR T I8d 9 Afhd o IR H 38k 3cdTel <hl g9 Tl &t T
W@ | eh HRU KA hl Tkl H glg & & W W@ off, IRomHEEET Ay
A o | fquue e, SR 9 o9 ogwa TR fop gedreiel! fafies’ saarg
¥ grafd agd mewql fuR § weh ol o e T R
‘geaTarett fafteg’ sH-ar fvla @ o6 s IuYeT IR § 38 IcaTe)
TEaH W ek ? Afe 3wk Fofa & foram S, ‘et fafiee’ o soek
YIRS ol hid-shd & a9 e, gwemsy |

‘Pushpanjali Ltd.’, is manufacturing chocolates, biscuits, cakes and other

similar products. The company is not generating enough profits.
Saurabh, the Marketing manager of the company got a survey conducted
to find out the reasons. The findings of the survey revealed that in spite
of better quality, the customers were not able to distinguish the products
of the company from its competitors. Though the customers wanted to
buy the products of ‘Pushpanjali Ltd.” again and again because of its good
quality, but they were not able to identify its products in the market.
Because of this, the sales of the company could not pick up resulting in
inadequate profits. Saurabh, the Marketing manager now realised that
‘Pushpanjali Ltd.” had forgotten to take one of the most important
decisions related to the product.

What decision should ‘Pushpanjali Ltd.” take so that its customers are
able to identify its products in the market ? Explain the benefits that may
result to ‘Pushpanjali Ltd.” and its customers if the above decision is
taken.
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SECTION E
23. UMW Y§Y & HHfdRad fagidi sl GHEsT 6
(%) WM @
(@) Hdr; a1
() UES |
YT
I JEY & fohedl o fagral w1 Fmesy | 6

Explain the following principles of general management :
(a) Scalar Chain;
(b)  Equity; and

(c) Initiative.
OR
Explain any three principles of scientific management.

24, 99 2000 ¥ S-Hrcyz fafiee’ I o194 yeTeM IRY fohu | 39 T % THY
HIH o UTE hdd oH HHEE 99T @ fa9m A, Uh Icqred fawm 9un uw
gemEfe faum | e $o avt § wrot grr smgfd fohu T Iearel den yeH
T QAT 4 ATRIIAT o hT | Jeo 1 U hl Trararet § fagard o
3 3afeTy 38 S L <l Taqar & T oft | JeRed 3 I8 Ygen foh Hired |
fafte =t = fofe o7 arat = ifees Tadsar € S T STavEeRdT & | SR
T Hifama ol o fr 3= rfeeeti@n w1 arefiaeent W feor 69 g
T | 3TH FTS | STl hl Yieh 9 T8 3R 319 o 31feeh g&1 H, a1
& wEEqul (ORI i o S el 0 o | 3Hes IRumTEEY 39 SHeE 3 9'd |
gt o fafagar g s & | IA9E § 3T S R oW H 8 @1 g adT 39eh!
faeen § 9rd wE@ @ | 3He SeAIcHS e 39 faurfi e | uiEfda @
T B 3T g9 IR N §6 P9 § M R @ 3 |

66/2/3] 13 P.T.0.
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(%) Te=e hl 3T FGUNN I g Fh! T & Hrot 3 9ga ¥ &
¥ fafayar wrea s it qen fager # skl @ @rd o |
(@) 39 (%) H 9= Tg HAURON o HEwl o Ui foeg THATT |
‘E-Solutions Ltd.” started its operations in the year 2000. At the time of

its inception, the company had only ten employees with two departments,
a Production department and an Administration department. The
products supplied and the services provided by the company started
gaining popularity over the years. The management had faith in the
abilities of the employees and thus they allowed them freedom of action.
The management recognised that the decision-makers at different levels
of the organisation need to be given more autonomy. They took a policy
decision that there will be less control of superiors over subordinates.
This increased the role of the subordinates in the organisation and now
they were in a position to take numerous as well as important decisions.
As a result, its business has diversified into many areas. Presently, it has
its operations throughout the country with seven branches overseas. Its
organisational structure has now changed into divisional structure and
ten thousand people are working with the company.

(a)  Identify the concept of management which helped the company to
diversify into many areas and branches abroad.

(b)  Explain five points of importance of the concept identified in (a)
above.

25. ‘UeteHe sfean fafies’ w1 fma, e, wrisHt 99r <9 il gHl YR I
g Hhlaeh fated § gafad 3= Tiafaferi 1 SRS L ArT 1 JRSH
HH o IT ¥ TR T R | FA %k YEER W Hall, Wi q°1 &R o
e UG SAfthed @ | 384 I8 fofg foran g fob o 3Wd gT gar wfiasl,
AT AT HATRN bl Tesh e e il | HEHT 3 79 TISATcHS =T 6

fetoor weh St fopanati 1 Tga sk R B | gEes uvenq fafie fawmn &




s

wgEt 1 Frgfe ot e T ] | e 3, I w favete s R, e e s
Il SRRl bl TEAT, TR QAT 9T AT 1 feeivor ot form 2 |
Hr-forerer 1 Tt <1 Sfshan o ST F=1 3099 g8 38 a1 IFHIGAR o Ui
foqmam & Tk wgl’ Wi foeeféa o o fow Swm foram mm o | 39 file fifean
T JeRTi3Td TR Soideii-eh Hifeam d JETia fomam T | 3@ A&eHi i sg 3
TS |

ST A= URAT I 90 1 % fae fenm g fsaiica fope e amer o1
=T ! FHEATT |

‘Entertainment India Ltd.” has been incorporated with the objective of

entertaining people by organising festivals, programmes and other
similar events depicting the rich cultural heritage of the country. The
company management has renowned personalities from the field of art,
literature and culture. They decided to give a platform to young budding
musicians, poets and artists. The company decided its organisational
structure by grouping similar jobs together. Thereafter, the heads of
different departments were also appointed. Nisha, one of the heads, did
an analysis of the number, type and qualification necessary for people to
be appointed. The information generated in the process of writing the job
description and the candidate profile was used to develop ‘Situations
vacant’ advertisement. This was published in print media and flashed in
electronic media. This brought in a flood of response.

Explain the other steps which Nisha has to perform to complete the
process being discussed above.



